Puzzle 13886 - Wednesday, 11 January, 2017 - Difficulty 10

19 1y T 17 I ] > D I
1 3|1 2|7 ]5|8]14[9]|6
TG S CE R e
71863 |aj9[2]1]|5
i % f:ffff,‘ ‘ : %767:: ffff:,} éf:::: 726:::
5/4|9]6 21378
777777777777 72727:: — iéﬁ" ; : i ; i
418|966 |5[7]2]|3
i % :7171",17‘ ‘ — 72737:: ffff:,} : i
6|2)|51|7|3]|8|4]9
:’S’éiif Li:::} ‘ p——— :171""‘ : ‘ ;77::1
39|72 |84]|5|6]1
%f:::,:ff:::i ' ::::::: ::::,1 éé’,’:? —— §
2|5/4|[81]6]193|7
ébf”ff::,‘ 21 fffffffff : | i éi‘li::”::::" : — | i
o |7|1]5|3|2|6|8|4
8|63[afo|7|[1]5]2

Copyright (c) www.dailykillersudoku.com



